
10th Class Learning Acceleration Program Phy Science – 4 
Dt: 09.03.2021 Max Marks: 20 
I. Write the answers for the following questions in a word or phrase. Each question carries ½ Mark. 4x ½=2 
 1. Which group elements are called noble gas family? 
 2.  An element has atomic number 19. Mention the place of this element in the periodic table.  
 3. Draw simple diagram of BeCl2 molecule.  
 4.  Write an example for Doberieners Triad. 
II. Write the answers for the following questions in two sentences. Each Question Carries 1 Mark. 4 x 1 =4 
 5.  State modern periodic law. 
 6. What is meant by hybridisation? 
 7.  Represent the bond between beryllium and oxygen atoms using Lewis (dot) notation. 
 8.  Define ionic bond. 
III. Write the answers for the following questions in four sentences. Each Question Carries 2 Marks. 3 x 2 = 6 
 9. Write down the following characteristics of an element whose atomic number is 13. 
  Electronic configuration, Period number, Group number. 
 10. Write Newlands law of octaves. Mention one de-merit of it. 
 11. Explain the formation of NaCl on the basis of the concept of electron transfer from one atom to another atom. 
 IV Write the answers for the following questions in eight sentences. Each question carries 4 marks. 2 x 4 = 8 
    12 (a)  Discuss the salient features of modern periodic table.    (Or) 

(b)  Define and explain the formation of covalent bond in F2 molecule. 
    13 (a)  Explain the formation of BF3 molecule.      (Or) 
           (b)  Explain the formation of H2 molecule based on the valence bond theory. 
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 
 NaCl
    4 x 2 = 8
 
  F2
  BF3  
  H2  


